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L. (i) Convert the binary representation: 11.01 to.its equivalent base ten form (3%)
and (ii) convert 558 to binary form: (3%)

2. Perform the indicated operations: (6%)

10000011 10000011
AND 11101100 XOR 11101100

3. Convert the following pseudo code routine to an equivalent routine using a repeat -

until statement: (8%)
assign Z the value 0
assign X the value 1
while (X < 6) do
(assign Z the value Z + X;
assign X the value X + 1)

4. (i) What is "multitasking"? (4%) ,
(ii) Explain how multitasking operating systems can obtain higher throughput than
systems that insist on performing each task completely before starting the next. (6%)

within the development phase of the software life cycle. (10%)

6. Draw a binary tree of the letters C, B, E, D, F, and A and draw an actual organization of
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5. Briefly explain each of the four stages (analysis, design, implementation, and testing)
1
the binary tree using a linked strusture. (10%)
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